
§·¤æ§ ü / Unit-I

1. ÂýæÍç×·¤ °ß¢ çmÌèØ·¤ â×¢·¤ô´ âð @Øæ ¥æàæØ ãñU?
ÂýæÍç×·¤ â×¢·¤ô´ ·ð¤ â¢·¤ÜÙ ·¤è ×éBØ ÚUèçÌØô´ ·¤è
çßßð¿Ùæ ·¤èçÁ°Ð

What is meant by Primary and Secondary
Data ? Discuss the main methods of collecting
primary data.
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ÙôÅU Ñ âÖè ÂýàÙæð´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙæð´ ·ð¤ ¥¢·¤
â×æÙ ãñ´ UÐ Üƒæé»‡æ·¤ âæÚU‡æè °ß¢ »ýæÈ¤ ÂðÂÚU ×æ¡»Ùð ÂÚU
ç×Üð´»ðÐ

Note : Answer all questions. All questions carry equal
marks. Log table and graph paper will be
supplied on demand.
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çÙ`Ù âæçÚU‡æè âð â×æ‹ÌÚU ×æŠØ, ×ŠØ·¤æ °ß¢ ÕãéUÜ·¤

™ææÌ ·¤èçÁ° Ñ

×ÁÎêÚUè (G) ·¤×ü¿æçÚUØô´ ·¤è â¢BØæ

} âð ·¤× z

v{ âð ·¤× vw

}-wy w~

wy °ß¢ ¥çÏ·¤ xv
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y® °ß¢ ¥çÏ·¤ v~

y} °ß¢ ¥çÏ·¤ z

Calculate Mean, Median and Mode from the
following table :

Wages (G) No. of Workers

Less than 8 5

Less than 16 12

8-24 29

24 and above 31

32-40 8

40 and above 19

48 and above 5
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§·¤æ§ ü / Unit-II

2. çÙ`Ù â×¢·¤ô´ âð ¿ÌéÍü·¤ çß¿ÜÙ °ß¢ §â·ð¤ »é‡ææ¢·¤
·¤è »‡æÙæ ·¤èçÁ° Ñ
×ÁÎêÚUè (G)
(âð ·¤×) v® x® z® w® {® y® |®
×ÁÎêÚUô´ ·¤è

â¢BØæ z vz x® } xx w® xz
Calculate Quartile Deviation and its
Co-efficient from the following data :
Wages (G)
(Less than) 10 30 50 20 60 40 70

No. of
Workers 5 15 30 8 33 20 35
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çÙ`ÙçÜç¹Ì â×¢·¤ô´ âð Üƒæé çßçÏ mæÚUæ ×ŠØ·¤æ âð
×æŠØ-çß¿ÜÙ ™ææÌ ·¤èçÁ° Ñ

ß»ü ¥æßëçîæ
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Calculate mean deviation from median by
short-cut method from the following data :

Class Frequency

10-20 15

20-30 14

30-40 16

40-50 20

50-60 15

60-70 11

70-80 9

§·¤æ§ ü / Unit-III

3. çÙ`ÙçÜç¹Ì ¥æ¢·¤ÇUô´ âð Ò·¤ôçÅU-¥‹ÌÚU çßçÏÓ mæÚUæ

âãUâ`Õ‹Ï »é‡ææ¢·¤ ™ææÌ ·¤èçÁ° Ñ

X }® |} |z |z {} {| {® z~

Y vw vx vy vy vy v{ vz v|

Calculate co-efficient of correlation by ‘Rank
difference method’ from the following data :

X 80 78 75 75 68 67 60 59

Y 12 13 14 14 14 16 15 17
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Îô ÂýÌèÂ»×Ù â×è·¤ÚU‡æ çÙ`ÙæÙéâæÚU ãñ´ U Ñ

12x – 15y + 99 = 0

60x – 27y – 321 = 0

ØçÎ x ·¤æ ÂýâÚU‡æ = 36 ãUô, Ìô ™ææÌ ·¤èçÁ° Ñ

(a) x ÌÍæ y ·¤æ ×æŠØ

(b) x ÌÍæ y ·ð¤ Õè¿ âãUâ`Õ‹Ï »é‡ææ¢·¤

(c) y ·¤æ Âý×æÂ çß¿ÜÙ

Two Regression equations are as follows :

12x – 15y + 99 = 0

60x – 27y – 321 = 0

If variance of x = 36, find :
(a) Mean of x and y

(b) Correlation coefficient of x and y

(c) Standard Deviation of y

§·¤æ§ ü / Unit-IV

4. çÙÎüðàææ¢·¤ âð @Øæ ¥æàæØ ãñU? §â·¤è çßàæðáÌæ°¡,

©UgðàØ °ß¢ ×ãUˆß ÕÌæ§°Ð

What is meant by Index Number ? Discuss
its characteristics, purpose and importance.
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çÙ`ÙçÜç¹Ì âð çÙÎðüàææ¢·¤ ·¤è »‡æÙæ ·¤èçÁ° Ñ

(a) ÜñçSÂØÚðU çßçÏ mæÚUæ

(b) Âæòàæð çßçÏ mæÚUæ

(c) çÈ¤àæÚU çßçÏ mæÚUæ

¥æÏæÚU ßáü ¿æÜê ßáü

ßSÌé°¢ ·¤è×Ì ×æ˜ææ ·¤è×Ì ×æ˜ææ

A { z® v® z{

B w v®® w vw®

C y {® { {®

D v® x® vw wy

E } y® vw x{

Calculate Index number from the following
data by :
(a) Laspeyre’s method
(b) Paasche’s method
(c) Fisher’s method

Base Year Current Year

Commodity Price Quantity Price Quantity
A 6 50 10 56
B 2 100 2 120
C 4 60 6 60
D 10 30 12 24
E 8 40 12 36

( 6 )

420_BSP_(7) (Continued)



§·¤æ§ ü / Unit-V

5. ÃØæßâæçØ·¤ ÂêßæüÙé×æÙ âð @Øæ ¥æàæØ ãñU?
ÃØæßâæçØ·¤ ÂêßæüÙé×æÙ ·ð¤ ×ãUˆßÂê‡æü çâhæ‹Ìô´ ·¤è
çßßð¿Ùæ ·¤èçÁ°Ð

What is meant by Business Forecasting ?
Discuss the important theories of business
forecasting.
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ç·¤âè â×SØæ ·¤ô A mæÚUæ ãUÜ ·¤ÚUÙð ·¤è ÂýæçØ·¤Ìæ
®.| ãñU ¥õÚU B mæÚUæ ©Uâè â×SØæ ·¤ô ãUÜ ·¤ÚUÙð
·¤è ÂýæçØ·¤Ìæ ®.{ ãñUÐ ØãU ×æÙÌð ãéU° ç·¤ ÎôÙô´
ƒæÅUÙæ°¢ SßÌ‹˜æ ãñ´U, ÎôÙô´ ×ð´ âð ç·¤âè °·¤ ·ð¤ mæÚUæ
â×SØæ ·ð¤ ãUÜ ãUôÙð ·¤è ÂýæçØ·¤Ìæ ™ææÌ ·¤èçÁ°Ð

The probability that A can solve a problem is
0.7 and the probability that B can solve that
problem is 0.6. Considering that these events
are independent, find the probability that
problem get solved by either of them.
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